www.shixinbearing.com.tw

KOLMB E#xE* - ERME

LM

L
=1 A —
( =] i B
! ]

i h

Il l

D D1 + i

| |

(. 7 i LM LM OP LM AJ
P PEE R BICI R R
B FEBR
FH B dr RE || BE ) BE o AE || AE | DI
EEERE | By GIRED BEIG |  RERAIEEE | MAIE | mm | um pm pm um pm | mm

LM4 4 - - - - 4 0 8 0 12 0 - - - -
LM5UU 4 - - - - 5 -8 10 -9 15| 1200 102 1.1 9.6 9.6
LM6UU 4 - - LMBUUAJ 4 6 12 19 135 11 115 115
LM8SUU 4 - | LM8SUUAJ 4 8 15 _1? 17 11.5 11 143] 143
LM8UU 4 - - LM8UUAJ 4 8 15 24 17.5 oL L1 143 143
LM10UU 4 - | LM10UUAJ 4 10 g 19 29 . 22| 200| 13 18 18
LM12UU 4| LM12UU-OP 3 LM12UUAJ 4 12 21 30 | 200 23 13 20 20
LM13UU 4| LM13UU-OP 3| LM13UUAJ 4 13 23 32 23 13 22 22
LM16UU 5| LM16UU-OP 4|  LM16UUAJ 5 16 28 37 26.5 16 27 27
LM20UU 5| LM20UU-OP 4|  LM20UUAJ 5 20 32 42 30.5 16| 305| 305
LM25UU 6| LM25UU-OP 5 LM25UUAJ 6 25 40 59 41 1.85 38 38
LM30UU 6| LM30UU-OP 5 LM30UUAJ 6 30 45 64 445 1.85 43 43
LM35UU 6| LM35UU-OP 5|  LM35UUAJ 6 35 52 70 49.5 2.1 49 49
LM40UU 6| LM40UU-OP 5 LM40UUAJ 6 0 60 g 80| 0| 605 O 2f 57 57
LM50UU 6| LM50UU-OP 5|  LM50UUAJ 6 50 80 100 74 26| 765 765
LM6OUU =~ 6 LM6OUU-OP | 5|  LMBOUUAJ 6/ 60 o 90 o 10 85 315 865 865

& tEZHABERAR AT NS CEH190% TEL:(02)2285-7008 FAx:(02)2288-2821



KOLMB BE# 8% - ERWE www.shixinbearing.com.tw
fanne IV
Part No

(BI=E

LM LM AJ
EEE R AR LA

VGt FERY EEEL | SRR BEARTBE S -

THERGR dr h ht (ma) | (max) c Co | T

EXEGE | R ]mE] BREUE | PARAEREEE | HEIE | mm mm mm ° Hm Hm N N e
LM4 4 - - - - 4 - - - 88 127 2
LM5UU 4 - - - - 5 - - - 8 167 206 4
LM6UU 4 - - LM6UUAJ 4 6 1.0 - - -3 206 265 8.5
LM8SUU 4 - - LM8SUUAJ 4 8 1.0 - - 176 216 11
LM8UU 4 - - LM8UUAJ 4 8 1.0 - - 274 392 17
LM10UU 4 - - LM10UUAJ 4 10 1.0 6.8 80° 10 372 549 36
LM12UU 4| LM12UU-OP 3 LM12UUAJ 4 12 15 8 80° -4 510 784 42
LM13UU 4| LM13UU-OP 3 LM13UUAJ 4 13 15 9 80° 510 784 49
LM16UU 5| LM16UU-OP 4 LM16UUAJ 5 16 15 11 80° 774 1180 76
LM20UU 5| LM20UU-OP 4 LM20UUAJ 5 20 15 11 60° -6 882 1370 100
LM25UU 6 | LM25UU-OP 5 LM25UUAJ 6 25 2 12 50° 15 980 1570 240
LM30UU 6| LM30UU-OP 5 LM30UUAJ 6 30 25 15 50° P 1570 | 2740 270
LM35UU 6 | LM35UU-OP 5 LM35UUAJ 6 35 2.5 17 50° 1670 | 3140 425
LM40UU 6| LM40UU-OP 5 LM40UUAJ 6 40 3 20 50° 20 10| 2160 | 4020 654
LM50UU 6 | LM50UU-OP 5 LM50UUAJ 6 50 3 25 50° 3 3820 7940 1700
LM60UU 6| LM60UU-OP 5 LMB0UUAJ 6 60 3 30 50° 25 4700 | 10000 | 2000
& tEHHEERARATE AL EMECEE190% TEL:(02)2285-7008 Fax:(02)2288-2821



KOLMB BE# 8% - ERWE www.shixinbearing.com.tw
e LIV
Part No

(BfE - MEE)

- L >
- B >
-lw Wl =
! i
pu— L © 000000000 ©C0C000000 E :
|
L
y
|
Dl D1 I | T dr
I
L Y
| Y L
A, TER BEXRBERNE B RO ==
=
\ dr N D N L N B = w D1 C Co (max)
TR o} (2] U 2 s
BEE AL ER IKEVE mm um mm um mm um mm um mm mm N N pm @
LM6LUU 4 6 12 0 35 27 1.1 115 323 530 16
LM8LUU 4 8 15 19 45 35 1.1 143 431 784 31
LM10LUU 4 10 0 19 55 44 13 18 588 oo | 62
LM12LUU 4 12 10 21 0 57 a0 % e 13 20 813 1570 80
LM13LUU 4 13 23 16 61 46 13 22 813 1570 90
LM16LUU 5 16 28 70 53 16 27 1230 2350 145
LM20LUU 5 20 32 80 61 16| 305 1400 2740 180
LM25LUU 6 25 - 40 o 112 82 1.85 38 1560 3140 | 20 440
LM30LUU 6 30 45 123 89 185 43 2490 3490 480
LM35LUU 6 35 52 135 . 99 . 2.1 49 2650 6270 795
LM40LUU 6 40 . 60 o 151 400 121 500 2.1 57 3430 8040 | 25 1170
LM50LUU 6 50 80 192 148 26| 765 6080 15900 3100
LM60LUU 6 60 o 90 o 209 170 315 | 865 7550 | 20000 | 30 3500
& it ZHABRARAT HbHEMEE 41903 TEL:(02)2285-7008 FAX:(02)2288-2821



KOLMB BE# 8% - ERWE www.shixinbearing.com.tw
e KH
Part No

(1R E)

DO00O0OOOOOO0

o NG
)

O TTTITFTTTT) Kﬁ

FER HEARBESE ==
SEEIT ad oD L (l\:l ?\10 ©) Type number format
KH-0622 6 12 22 400 239 7 KH 20 30 PP
KH-0824 8 15 24 435 280 12
KH-1026 10 17 26 500 370 145
KH-1228 12 19 28 620 510 18.5 o .
KH-1428 14 21 28 620 520 205 (Prezls-li;]“é“glush) PE i z::: EZ:hs::es
KH-1630 16 24 30 800 620 27.5 Linear Bearing - )
KH-2030 20 28 30 950 790 32,5
KH-2540 25 35 40 1990 1670 66 - Length Dimension
KH-3050 30 40 50 2800 2700 95
KH-4060 40 52 60 4400 4450 182
KH-5070 50 62 70 5500 6300 252 Shaft Diameter
& tEZHABERAR AT FAHEMECEH190% TEL:(02)2285-7008 FAX:(02)2288-2821



KOLMB BE# 8% - ERWE www.shixinbearing.com.tw

2:LME |EE

=] A5
(BlmE
L
. B
w w y
] = 7= -
I B>, 0000000000 Sl I
(Ir ><> ’I‘, LM LM OP LM AJ
D DI i: :i EEAE (=] BICE RObaEEERY
| |
L |
1
BRI TER~
T RS dr NE D NE L N B NE w D1
1234 [ 5 A BRBI 2] GImEid] k512 R pasm A %58 | mm pm mm pm mm pm mm um mm mm
LME5UU 4 - - LME5UUAJ 4 5 12 0 22 145 1.1 11.5
LMESUU 4 - - LMESUUAJ 4 8 " 16 8 25 16.5 11 152
LME12UU 4| LME12UU-OP 3 LME12UUAJ 4 12 22 0 32 _208 22.9 _308 1.3 21
LME16UU 5| LME16UU-OP 4 LME16UUAJ 5 16 49 26 -9 36 24.9 1.3 24.9
LME20UU 5| LME20UU-OP 4 LME20UUAJ 5 20 -1 32 45 31.5 1.6 30.3
LME25UU 6 LME25UU-OP 5 LME25UUAJ 6 25 oy 40 o 58 44.1 1.85 37.5
LME30UU 6 LME30UU-OP 5 LME30UUAJ 6 30 -1 47 68 0 52.1 1.85 445
LME40UU 6 | LME40UU-OP 5 LME40UUAJ 6 40 62 0 80 -300 60.6 0 2.15 59
-400
LME50UU 6 LMB50UU-OP 5 LME50UUAJ 6 50 +13 75 -13 100 77.6 2.65 72
-2
LMEGOUU 6 LMEBOUU-OP 5 LMEGOUUAJ 6 60 90 _12 125 _408 101.7 3.15 86.5

& tEZHABERAR AT NS CEH190% TEL:(02)2285-7008 FAx:(02)2288-2821



KOLMB BE# 8% - ERWE www.shixinbearing.com.tw

:ILME EE

(BI=E

LM LM OP LM AJ
A E R GfuEd PR RE
EEET FERY REEN | a8 BERBEEAR 5=
HH B dr h h1 5 (max) (max) C Co @
=R E R gl ImE] gl Bl BEE | mMm | mm | mm Hm Hm N N
LME5UU 4 - - LMESUUAJ 4 5 - - - 206 265 11
LMESUU 4 - - LMESUUAJ 4 8 - - - a 265 402 22
LME12UU 4 | LME12UU-OP 3| LME12UUAJ 4 12 1.5 7.5 78° " 510 784 45
LME16UU 5| LME16UU-OP 4| LME16UUAJ 5 16 15 10 78° B 578 892 60
LME20UU 5| LME20UU-OP 4| LME20UUAJ 5 20 2 10 60° 862 1370 102
LME25UU 6 | LME25UU-OP 5| LME25UUAJ 6 25 2| 125 60° 15 0 980 1570 235
LME30UU 6 | LME30OUU-OP 5| LME3OUUAJ 6 30 2| 125 50° P 1570 2740 360
LME40UU 6 | LME40UU-OP 5| LME40UUAJ 6 40 3| 168 50° - 2160 4020 770
LME50UU 6 | LMB50UU-OP 5| LME50UUAJ 6 50 3 21 50° 13 3820 7940 1250
LME6OUU 6 | LMEGOUU-OP 5| LMEBOUUAJ 6 60 3| o2r2| 58 20 4700 9800 2220
& tEZHABERAR AT FAHEMECEH190% TEL:(02)2285-7008 FAX:(02)2288-2821



KOLMB BE# 8% - ERWE www.shixinbearing.com.tw

22 LMEL ED

(BEmMER)
- L -
- B -
W Wt
A } =
Ju— NEOOOOOOOEEITHOOOOOOORENT,_ ]
|
L
L]
|
Dl D1 I |4 T dr
|l
(. Y
| A L
L3 DGt FERYT AR EXBERT 8
=
. dr NE D NE L NE B PNE W D1 (max) C Co
TR )2 5
memms s S om | um | omm | wm | mm | mm um N N ©
LMESLUU 4 8 49 16 9 46 33 1.1 15.2 421 804 40
-1
LME12LUU 4 12 22 0 61 0 45.8 0 13 21 15 813 1570 80
-300 -400
LME16LUU 5 16 11 26 i 68 498 1.3 24.9 921 1780 115
LME20LUU 5 20 - 32 80 61 1.6 30.5 1370 2740 180
LME25LUU 6 25 13 40 . 112 82 1.85 38 17 1570 3140 430
LME30LUU 6 30 2 47 123 104.2 1.85 44,5 2500 5490 615
LME40LUU 6 40 62 0 151 0| 1212 0 2.15 59 2 3430 8040 1400
-400 -500
LME50LUU 6 50 +16 75 19 192 155.2 2.65 72 6080 | 15900 2320
-4
LME60LUU 6 60 90 o 209 170 3.15 86.5 25 7550 | 20000 3900
& tEZHABERAR AT NS CEH190% TEL:(02)2285-7008 FAx:(02)2288-2821



